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follows :

@ To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal or open booklet.

@) Tally the number of pages and number of questions in
the booklet with the information printed on the cover
page. Faulty booklets due to missing pages/questions
or questions repeated or not in serial order or any
other discrepancy should not be accepted and correct
booklet should be obtained from the invigilator within
the period of 5 minutes. Afterwards, neither the Question
Booklet will be replaced nor any extra time will be
given. The same may please be noted.

(iir) After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.

Each question has four alternative responses marked (A), (B),
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you outside the Examination Hall. You are, however, allowed
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Geography

Paper II

I

EECIECAN |

Note : This paper contains Hundred (100) multiple choice questions. Each question
carrying Two (2) marks. Attempt All questions.

Time Allowed : 120 Minutes]

APR - 36224/I1—A

[Maximum Marks : 200

TOAT @ A1 TRAUCThG THY TR (100) TgEE WEA fool ofed. Yo TRe & (2)

U7 STRd. T WYY Wi

1. Which one of the following is the
evidence of seafloor spreading ?
(A) Palaeomagnetism (Magnetic
Anomalies)

(B) Drifting of Continents

(C) Upwelling of magma from the
Mid-oceanic ridges

(D) Movement of the plates

2. Match List I with List IT and select
the correct answer from the codes
given below :

List I (Force Types)
(a) Horizontal forces
(b) Epeirogenetic forces
(c) Catastrophic forces
(d) Exogenetic forces
List II (Characteristics)
(1) Vertical movements
(2) Tangential movements
(3) Destructional process
(4) Sudden movements
Codes :

(@ ®) () ()
A 2 @ @O 3
B 2 O @ 3
e 1 @ 6 @
D B 1 @ @
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In the chemical weathering process,
the general order of mineral stability
is provided by :

(1) Goldich dissolution series

(2) Penk’s dissolution series

(3) Bowen’s reaction series

(4) Holme’s reaction series

(A) (1) and (2)

(B) (3) and (4)

(C) (1) and (3)

(D) (2) and (4)

Assertion (A) : Rejuvenation
accelerates the erosive power of the
rivers.

Reason (R) : Rejuvenation shortens
the cycle of erosion.

Which one of the following is
correct ?

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true and
(R) 1is not the correct
explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true
‘Sag pond’ is related to ............
(A) Active strike slip
(B) Meandering river

(C) Coastal process
(D) Deflation hollow
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In arid environment ........... is formed

because of slower slope movements.
(A) Debris flow

(B) Talus

(C) Solifluction

(D) Sludging

Arrange the ‘slope segments’ from

lower to higher level :
(1) Waxing slope

(2) Constant slope

(38) Free face

(4) Wanning slope

A) @), (2), (3), (1)

B) (2), (3), (4), (1)

(©) @), (3), (2), (1)

D) 4), (2), (1), (3)

When large volume of pyroclastic

material mixes with rainwater and

snowmelt water causes .............
(A) Avalanche

(B) Debris flow

(C) Lahar

(D) Earth flow
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10.

Nappe is formed due to .......... of the

following.

(1) Thrust faulting
(2) Recumbent folding
(3) Jointing

(A) Only (1)
(B) Only (2)
(C) Only (1) and (2)
(D) Only (1) and (3)

The main chemical compounds,

other than water, in acid rain

Hydrochloric acid and sulphuric
acid
(B) Nitric acid and sulphuric acid

(C) Nitric acid and hydrochloric
acid
(D) Nitric acid, hydrochloric acid

and sulphuric acid

10.
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11.

12.

The annal range of temperature is

calculated as .............

(A) Difference between annual

maximum and annual
minimum temperatures in the

last 100 years

(B) Difference between warmest
and coldest monthly means of

temperature in a year

(C) Difference between daily
maximum and daily minimum

temperatures in a year
(D) Difference between average

maximum and average

minimum temperatures in last

30 years

The layer(s) of the atmosphere,

known as Appleton layer, is/are

(A) D-layer
(B) E-layer
(C) F2-layer
(D) G-layer

11.
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13.

14.

Match List I with List II and select

the correct answer from the codes

given below :

List I (Winds Category)

(@) Microscale winds

(b) Mesoscale winds

(¢) Synoptic scale winds

(d) Planetary scale winds
List II (Examples)

(1) Santa Ana

(2) Hurricane

(3) Westerlies

(4) Dust devils

Codes :

(@ b)) © @

A @ @O @2 3

B @ @ @O A

© 1 @ 2 O

D 2 3 @ @

Which of the following statement(s)

is/are not true about the

atmosphere ?

(1) Atmosphere is a very shallow
layer of the earth

(2) More than 99% of the
atmosphere is within 30 km of
Earth’s surface

(3) More than 99% of the
atmosphere is within 80 km of
Earth’s surface

(4) It protects us from the
dangerous radiation emitted by
the sun

(A) (1) and (2)
B) (2) and (3)
(C) only (2)
(D) only (3)

13.

14.
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15.

16.

If temperature of a particular place
was 32°C, what would be its
equivalent temperature in degree

Fahrenheit ?
(A) 96.9
B) 89.6
(C) 99.6
(D) 86.7

Assertion (A) All objects

continually emit radiant energy over

a range of wavelengths.

Reason (R) : Hotter objects radiate
more energy in the form long-

wavelength radiation.

Which on of the following is

correct ?

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but

(R) 1is not the correct

explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true
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18.

19.

cloud develop along the cold
front in an extra tropical cyclone.
(A) Altocumulus

(B) Cumulo nimbus

(C) Cumulus clouds

(D) Nimbo stratus

Which of the following indices is not
developed by Thornthwaite to
determine boundries of different
climatic types ?

(A) Moisture Index

(B) Thermal efficiency index

(C) Aridity and Humidity Index
(D) Evaporation Index

Match List I with List IT and select
the correct pair from the codes given
below :

List I (Scientific Terms)

(@) Haloclines

(b) Isohyets

(¢) Pycnoclines

(d) Isohalines

List IT (Meanings)

A line connect equal salinity in
the ocean.

A line for sharp salinity
gradients in the water column
of the oceans.

A line for density gradient with
depth in the oceans.

A line for places of equal
rainfall over a certain period.

Codes :

(D
2)

3)
(4)

(@ ) (© (@
A 2 @ @O O3
B) 2 @ @ @
© 3 @ @ @
M @2 B @ @

17.

18.

19.
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20.

21.

During the glacial period, the earth’s
crust sinks due to the additional

weight of ice is called as

(A) Thermal expansion of seawater
(B) Isostatic change

(C) Interglaciation

(D) Eustatic changes

Which of the following pairs are not
correctly matched as per the theories

of the origin of tides ?

(1

Progressive wave theory :

William Whewell

(2)

Equilibrium theory : Sir Isaac

Newton

(3) Stationary wave theory : R.A.

Harris

(4) Dynamical Theory : G.B. Airy

(A) (1), (3) and (4)
(B) Only (4)
(C) Only (3)

(D) (3) and (4)

20.

21.
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22.

23.

Which of the following ocean
currents is not responsible for desert

formation ?

(A) Benguela current

(B) Humboldt current

(C) West Australia current
(D) Agulhas current

Who stated that “Geography is

related to the study of
interconnections among phenomena
of diverse origins existing together
in harmonious relationship in
particular segments (places/regions)

of the Earth surface”.
(A) Malte-Brun

(B) Humboldt

(C) Ritter

(D) Hartshorne

22.

23.
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26.

27.

28.

............. process occurs in climates
where evapotranspiration exceeds
precipitation.
(A) Podzolization
(B) Laterization
(C) Calcification
(D) Glaciation
Which of the following is the largest
ecosystem on the earth ?
(A) Anthropogenic ecosystem
(B) Grassland ecosystem
(C) Terrestrial ecosystem
(D) Marine ecosystem
Match List I with List IT and select
the correct answer from the codes
given below :

List I (Types)
(@) Herbivorous
®)
(c)
(d)

Carnivorous
Omnivorous
Decomposers

List II (Animals)
Penguin
Rat
Hippopotamus

(1)
(2)
3)
(4) Earthworms
Codes :

(a)
A) (1)
(B) (2)
(C) 3)
D) 3)

(b)
(2)
3)
(1)
(1)

(c)
3)
(1)
4)
2)

(d)
4)
(4)
(2)
(4)

27.

28.
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29.

30.

Find out the correct sentence of the
following, regarding the agreement

of Kyoto Protocol propose ...........
(A)

To reduce 30% emission of

carbon dioxide

(B) To reduce 18 to 20% emission

of CFC
(C)

To reduce 2 to 8.5% emission of

carbon
(D) To reduce 0.2 to 6.25% emission
of carbon
Which of the following statements
is correct about synthetic fertilizers ?

(@) These fertilizers concentrate the
essential nutrients in the

moderate layer of the soil.

(b) These fertilizers concentrate the
essential nutrients in layer of

top soil.

(¢c) It increases water holding
capacity

Find out the correct option :

(A) Only (a)

(B) Only (b)

(C) Only (a) and (c)

(D) (a), (b) and (c)

29.

30.
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31.

32.

Which of the following options is best
defined as plant and animal
community that covers a large

area ?

(A) Biome

(B) Biosphere

(C) Biodiversity

(D) Ecology

Arrange total net productivity of

major world biomass in decending

order :

(A) Forest — Open ocean — Grass-

land — Cultivated land

(B)

Open ocean — Forest —

Cultivated land — Grassland
(C) Cultivated land — Grassland —
Open ocean — Forest
(D) Grassland — Cultivated land —

Forest — Open ocean

31.

32.

APR - 36224/T1—A

W AUk ShIvEl T8 STHT0 TTdT

3T Tt ST STTee HeT S
R e ?

(A) ==
(B) STEmEI
(C) Stafeferem

(D) TRTEereh

~

Tod 3

GHE S Sieasg HHT

SUCShdl Salcl HHM HISUl &4 :

(A) T — Gl TRRTR — TEdled Fa¥l

(a (a (a
— cigsiEreied SHIA

B) ‘AT HIHIR EEl

AT e STHH — TTeldle Je 9l

(C) TNTEErEnetel STHIA — TTedies Jegl

— el WEETR — &

(D) TEAIE USI — ANTES [ETele] STHIA

— 1 — Fell HgMrR
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33.

What is the meaning of inter-
generational equity as an aspect of

sustainable development ?

(A) Minimise any adverse impact
on resources and environment

for future generation

(B) Minimise the wealth gaps
within and between the nations
during the developmental
process

(C) Safe, healthy and resourceful
environment to our present

generation
(D) Develop carrying capacity of the

environment to achieve equity

33.

APR - 36224/I1—A

f T 01

STYed fasrrar=ar s SaRfuer

g s ot e 2

(A) T HIEAEUET
qfaeoeial Hfdeher fomA et
B

[ a o
(Yol

(B) faskmar=n wfraeTrar Seraia affor
S el Hiowie 3TaR FHHT T

(C) wemr= fueranet TRfard, SRR
ERCEEERICIL

(D) TATeROTT=T G e foreRfia e
T TATI HY0)

34. Rank the following Union Territories | 34. 20 }1 =1 r:mwiﬁqfﬁ ?ﬁﬂt&?ﬂ
in ascending order by population u-mswu @llcﬂﬁlm h SR YT TSl
density in 2011 census : shHIH ShHIANT <lidl
(@ NCT of Delhi (@) T TSy wew et
(b) Dadra and Nagar Haveli (b) TEU M TR Bt
(¢) Chandigarh (c) <are
(d) Andaman and Nicobar Islands (d) AN anfn feher
Codes : Hehdieh :

A © ®) (@ @ A © O @ @
B) ® © @ @ B) ®) © @ @
©) @ B) © (@ © @ B © (@
D) @ © ® @ D) @ @@ ©® @
17 [P.T.O.



35. Match List I with List IT and select

the correct answer from the codes

given below :
List I (Types of Migration)
(@) Chain Migration
(b) Forced Migration
(c) Step Migration
(d) Seasonal Migration
List II (Descriptions)

() Persons displaced by war,

conflicts or natural disasters

(i1)) Sequential movement from

rural to urban areas in stage

(tzii) Persons seeking work each year
for a short time in a place other

than their residence

(fv) Individuals follow others who

have previously migrated
Codes :
@ ® © @
A) Gv) GiD) G) G)
B) () () ) Gii)
©) @) @) @) Gid)
D) Gi) (v) Gi)) G)

APR - 36224/T1—A

35. @I I o7for et 11 Axfiel e Sesd

s e Wahdaleqd oTEs 19

A I (R YEw)
(@) HEE T
(b) OGS T
(c) <THETAE TR
(d) TH TR
It I (SUi9)
() g5 wus fRar Wil AU
Toeenfua STeiell et

(i7) THIOT YT W84 AT SOAEUA
BRI e i |

(1) Tk I e fargReeataiiE
¥ TSaRTol e ST E S hiH

TN el

Gv) TEt TIAART Seledra ST

IO SR
Hahdish

(@ b)) @© @
A) (@v) @) @) @)
B) @) @) G @)
©) @ © @
D) @) @) G @)

(12)
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36. In Christaller’s model, the hierarchy | 36. TEEeR TiaHMEel, GEiAYAT S0 TR
levels are : 3Rd
(1) K3—Market Principle (1) K3—aNRus d<d
(2) K4—Transport Principle (2) K4—dT®{Hh dxd
(3) K7—Administrative Principle (3) K7T—U9Mgehid <
(4) K9—Industrial Principle (4) K9—s3fr=fms o<
Find out the correct combination of ST FF TG T GehdehTTH
answer according to the code : e
(A) (1), (2) and (3) (A) (D), (2) 9 (3)

B) (2), (3) and (4) B) (2), 3) 9 (4)
(C) (1), (3) and (4) (C) (1), B) 9 4)
(D) (1), (2) and (4) D) (1), (2) 9 (4)

37. Assertion (A) : Class I Cities in | 37. faam™ (A) ;: Yol 991 I 8L oled 370
India have grown faster than small T YEE AT faERed el e
and medium towns.

Reason (R) : Due to change in the FITOT (R) : FTEL T AT

definition of urban area. A0S forehfen el 31

Codes : HehdlF :

R0 Is the orret explonation | (&) () 1 (0 2
of (A) (R) & (A) ¥ /g faweroor o

(B) Both (A) and (R) are true and (B) (A) 3101 (R) Sl B SIe) 2T 37100
(R) is | not the correct R) ¥ (A) ¥ o/ Fwemm T@
explanation of (A)

(C) (A) is true but (R) is false (C) (&) == &TE WY (R) & IH e

(D) (A) is false but (R) is true (D) (A) 9% 378 WG (R) § s 1R

19 [P.T.O.



38.

39.

40.

Who the

propounded the concept of rural-

among following

urban fringe ?

(A) Pryor, R.J.

(B) Pahl R.

(C) Homer Hoyt

(D) Jean Gottman

What is ‘Demographic Divident’ ?
(A) Increase in 0 to 5 age group
population

(B) Increase in 6 to 15 age group
population

(C) Increase in 15 to 64 age group
population

(D) Increase in 65+ year population

Which of the following factors are

taken into account when computing

the Human Poverty Index (HPI) ?

(A) Life expectancy, education and
income inequality

(B) Gross Domestic Product (GDP)
and unemployment rate

(C) Access to clean water and

sanitation facilities

(D) Infant mortality rate and

literacy rate

38.

39.

40.

APR - 36224/TI—A
T AT WA & & Hehoul
GreAteient v Aee ?

(A) UER SRS

B) Ted HR.

(C) BM =

(D) SiA TMieHA

‘AR EEAR AR RS wE 2

(A) 0T 5 FANES dhdaEdd 9%

B) 6 4 15 FAEHA AlhaEd de

(C) 15 4 64 TITEA oArmdEad

Bl

(D) 65 & AT4E TANRMT AHHE
ElE)

o N NN [
cd{eiYenl onlUld =con % Al -GG

~

~x LY ~ LN
(sl =l VAL endil d-diRIa =ae

S| ?

(A) gA, frem 9 IO STHEE

Y o

(B) ®M3eh BT IR o SRUSHRT &Y

(C) Tres dmit & Teresal giadr A=

AN YTl

(D) e Heddr g emfor WeRar €T
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41.

42.

Which one of the following possess
dual recording system of vital

events ?

(A) Census

(B) National Family Health Survey
(C) Sample Registration System
(D) National Sample Survey

Information pertaining to which
among the following is not provided
by the population in census of
India ?

(A) Trends in population growth

(B) Changes in age-sex structure

(®)

Pattern of migration and

urbanization

(D) Family planning practice of

married couples

41.

42.

APR - 36224/I1—A

oo ~

Tl TeTteh! ShIvMhe

N o

| 2| R |

g U5 e ?

(A) SO

(B) TS H3d T Fem
(C) THAT Higuit oredt

(D) U™ AT Fo&m

A=A SIS T Teldesh] ShioTdl

gt USH helelt A&l 2

(A) ERTEAT Tl e

B) FI-Tem HE=d d&a

(C) TUETER ST YTELenTums] Shiaay

(D) foardia wiewi= Hza FEee
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43. Match List I with List IT and select

the correct answer from the codes

given below :

List I (Models of Urban
Land Use)

(@) Burgess Model

(b) Harris and Ullman model

(¢) Hoyt Model

(d) Exploitative model

List II (Characteristics)

(z) Multiple nuclei with specialized

functions

(i1) Circular zones with distinct land

uses

(zi1) Irregular patterns based on

transportation routes

(tv) Explain the structure and
function of any town or city

based on ownership of resources

and to pay
Codes :

(@ b)) (© (@
A) Gv) @) @) GD)
B) @ @ @) Gv)
(C) G) @ @G (o)
D) @) @) G (o)

APR - 36224/T1—A

43. =&l 1 afor =7t 11 /et Sresn Sjesen

ST et feeie™ Hehdlehlgd 3Te Taiid
IREEIE

et 1 (v e Su"eH faegia)

(@ =g fagia
(b) F\ st Seam T
(c) B THgid
(d) ¥ fagi

It 1T (uTafeTse)
() fovv FEHE oHE hgeh

(i) STTATeE Y STASHET TGaBeh
E|

(iii) ST8qeh ATTEA ATER  AfTEfHa
CIEALEL]

(i) T et amfor ¥ Yvareh

&THAT 1 MY S e
AT 3T S T S

- .
.
+

(@ ) (© (@
A) @) @ @) @)
B) @) @) @ D) (o)
© @ @ @) ()
D) @) @ @ @)
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44. Regional variations in agricultural | 44. o STEHAIE WL TEEER T
productivity can be influenced = Yae g€ vl
by .oveeens .
(A) Hrepfask fafaym
(A) Cultural diversity
(B) 3o fersman
(B) Economic disparities
(C) Political boundaries © Rl
(D) Climate and topography (D) oA SO AFTferh T
45. Which one of the following is | 45. @M =N AEAHE) WICTAUh! v
considered as the catalytic factor in AT UEH Wl SEr 2
Von Thunen’s Model ?
(A) 9N
(A) Market
(B) d&qH ©H
(B) Transport Cost
(C) Urban Centre © +5
(D) Concentric zones (D) Eif;iélg\ &t
46. e is the diminishing marginal | 46. =" &1 ST B SO HHId o
returns to scale that occur when a T, SiR] TERT ST AT e es
firm becomes too large to manage dl eFereita vy Afor hrdemd
and operate efficiently. ERIGECELRI G CRER |
(A) Economies of the scale (A) IREmTHERT fadema ey
(B) Diseconomies of scale (B) omafHa =Af&a oy
(C) Disintegration of scale (C) fawfsta omw
(D) Diminishing scale (D) =EAME <4
23 [P.T.O.



47.

48.

49.

When there is prolonged period of
inadequate rainfall with uneven

distribution, such situation is known

(A) Agricultural Drought
(B) Hydrological Drought
(C) Meteorological Drought
(D) Socio-economic Drought

Which of the following costs incurred
in the process of moving and which
are made up principally of fuel costs

and wages ?

(A) Overhead costs
(B) Line-haul costs
(C) Transfer costs

(D) Network costs

Which mode of transport is having
high terminal costs as compared to

other mode of transport ?
(A) Marine ports

(B) Rail

(C) Roadways

(D) Bus stand

47.

48.

49.

APR - 36224/T1—A

Steg] STHHM TIaiug ST3=a Ysi=Hrr=n
STe SHIAEH! ST, Togl 219 gRiEerten
Y WA @Ed .

(A) Tl Tl
(B) Scitd Thles

(C) TAMTTHcIh GohIc3
(D) HAISTR-3Tieh &R

~ N n oo

STEqeh BTeTaTel Wfshe GTeiietisht o
Td S Jeae 399 @™ S HeplEn
ST STl ?

(A) =EH

B) FEE T

(C) TERUl T
(D) w2 @
I IREgd Ugdardl fHAa @d 3

ARqHR = Joa W 38 ?
(A) FH =l

B) ¥

(C) &M

(D) =9 el
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50. Which of the following sentences are

51.

correct with respect to international
trade ?

(1)

Volume of trade is amount of

trade in monetary terms.

(2)

Composition of trade is type of

goods and services in

international trade.

(3) Direction of trade is trade of

country with other countries or
trade blocks.

(4) International trade does not
fulfill surplus and deficit
supply of

commodities in world

Codes :

demand and

(A) Statement (1), (2), (3) are correct
(B) Statement (2), (3), (4) are correct
(C) Statement (1), (2), (4) are correct
(D) Statement (1) and (4) are correct

As per Von Thunen, terrain which
is completely uniform in respect to
relief soil, climate and all other

physical conditions are called as :
(A) Isostatic surfaces
(B) Isotropic surfaces
(C) Isometric surfaces

(D) Isolectic surfaces

APR - 36224/I1—A

50. STATSEIE SAMIRIEE U Seielish! v

51.

faum se/amg e ?
(1)

SATA™  IMHRATT § AT

ERRICERER LI ekl

SRS AT a3 ST07 Fa
A B
AR TR ®WUS ST g

RYTEIEa=] fehal TR sefeheaRieii
AR B

AT AR SAa Sl
TrToRt S et 9 sifeRe sfty
T IRl +a A=

Hehdih :

(A) fagm (1), (2), (3) T e &

B) fagm (2), (3), (4) T =R g

(C) faum (1), (2), (4) & IUaT 31

(D) faum (1) e (4) ® =R 3R

B A A=A, S TS § 391, 1,
AT ST S UThfceh SIehlaeldid oI

...........

(2)

3)

(4)

(A) THEEEE geeYm
(B) THERMUS B4
(C) STHMZS Js3UNT

oo

Rl TN

(D) ==
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52.

53.

54.

Which of the following farming
practice aims to grow grasses in
rotation with the field crops, which
helps in building up the structure
of soil, preventing soil erosion and
improving its fertility ?

(A) Basin listing

(B) Contour terracing

(C) Hey farming

(D) Strip cropping

Who wrote book titled as ‘Land of

Britain : Its Use and Misuse’ ?
(A) M. Shafi

(B) D.M. Smith

(C) L.D. Stamp

(D) A. Coppock

is a good technique for the

delineation of land capability

regions.

(A) The potential land unit

(B) The production unit

(C) The potential production unit

(D) The perfect production unit

52.

53.

54.

APR - 36224/11—A
e e e A | B e o e S e
Sianie e e TTad areau
o, S e A, e o
Sfor = guteRdl ENuAay
Ted HLd ?
(A) @ AT
(B) &= HS[ Tl
(C) =W Tt
(D) Terie gl

‘ofve AT fred : 329 g 3fve fHags’
I A AEE HIU el R ?

(A) TH. 6!
(B) Etuq. foy
(C) TAE. Vo

(D) U HMH

~~~~~~~~~~~~~~
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55.

56.

According to Friedmann’s centro-
periphery model which of the

following sentences is correct :

(A) This model proposes that it is
the circular causation that
results in either downward or

upward spiral effect

(B) Development is determined by
the nature of relationship
between the developed core and
the underdeveloped periphery

(C) The development of subsidiary

capitalist metropolis exist as

satellite city status
(D) Model is highlights the role of
spread effect rather than

backwash effect

It is the existence of ........... forces

that make an area a region.
(A) Centripetal

(B) Centrifugal

(C) Natural

(D) Regional

55.

56.

APR - 36224/I1—A

e WU HiSE ' TR Eetetieh]

HIUT I SR, 3Tg 7

(A) © forma Afee o wfaues &3 =i

T FROMHes Thal ST fhar
ST TR Ui el

(B) forerm 71 faesiid iy eior stfaesiad

1re> B | 5o o K B - £21 o3| Sk == EoXe I A

feifta shen Sl

(C) =W YSiaR HerRr= foehm 39ve

BUET TSl WUE SAfEdced Adl

(D) =1 YA YiHeRT Ffdere THmErde

TR J9@ AR i
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58.

59.

is characterized by strict
physical boundaries and uniform
characteristics.

(A) Formal region

(B) Functional region

(C) Peripheral region

(D) Compage region

Genres de vie means :

(A)

Cultural assimilation

(B) Roles of men and women

expected to perform in their
daily life
(C) Way of living

(D) Geographical area

.............. is the perspective in
geography that emphasizes the
study of the individuals subjective

experiences.

(A) Positivism
(B) Humanism
(C) Feminism

(D) Postmodernism

58.

59.

APR - 36224/T1—A

..............

= afyrey WUe FRHR
rhfaes H enfor usmEHE  Sfyreed
THE.

(A) ®IHH FoI

(B) HECHE Y]
(C) ufeim wew
(D) wiHEfYa wow

‘ST T =mE BN

(A) HERiaH AR FHI0

(B) e o Si-qeni=n yfth
sfufer =

(C) Swar= u5d

(D) sfriifers &=

T YT gfteeh &g S

R ARG STINET= STHATEER

9wl

(A) THEEE

(B) WHeAmER

(C) e

(D) IT-ATYfehdTeTE
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60. Arrange the following philosophers | 60. @eid TwRIET = HIAES=T SHR
in ascending order starting from the maﬁ{q@q FHHIRT oar
oldest : V
() gty
() Eratosthenes . .
(i) STEEHEY
(I1) Anaximander
(iti) =
(ziz) Plato
' (iv) BIEEH
(iv) Herodotus
AT
Codes :
@A) O G G @) B @) )
B) @) G () Gi) B) @) O @) @)
© @) @ G 0 © @ @) @ o
D) Gv) Gi) G) (i) D) Gv) @) @ i)
61. Who conducted the first linguistic | 61. “Rawa dfgel wifvEeR w &m0 vl
survey of India ? ETc
(A) Berber (A) ¥R
(B) Emeneaue B) ==
(C) Grierson (C) U™=HEA
(D) Khulachandani (D) Ga=gH
62. The term ‘new cultural geography’ | 62. ‘a4 &—Ii\“ﬂvr&‘l% H\*ﬂcﬁ' & g gl
was coined by ........... Y
(A) French Human Geographers (A) B AFET e
(B) American Human Geographers (B) STHIERA Tl Y]
(C) British Human Geographers (C) fafest Al Tﬂm
(D) German Human Geographers (D) SHA HEST Tﬂm
29 [P.T.O.
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63. Find out the correct options from the | 3. WhsL I=AT THH R FHog9l Teferd

following pairs related to T SeaHgT drg TArg e
geostrategic idea of Mackinder : .
st Hehed T
Year Concept
(@) 1904 TR &5
(a) 1904 Pivot area
(b) 1919 R geayH!
(b) 1919 Strategic Heartland
(c) 1943 Y @
(c) 1943 Midland basin

(A) (@), (b) 3 (¢)
(A) (a), (b) and (c)

(B) (a) and (b) only (B) (a) ST (b) e

(C) (a) and (c) only (C) (@) 3fU (¢) Ha

(D) (b) only D) b) Fad

64. The line of actual control across | 64. WRG 270 =9 I TSRA TH&T

Ladakh between India and China =0 I HIven gRREl o
appears to be what type of Sy 2
boundary ?
(A) qeerd
(A) Antecedent
(B) Relict ®B)
(C) Subsequent (C) i
(D) Superimposed (D) AR
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65.

66.

Which of the following statement(s)

is/are correct regarding ‘Leben-

sraum’ ?

() The term was developed by

Geopolitics school

(z1)) The term was used by both
Friedrich Ratzel and Darwin

(zii) The meaning of Lebensraum as
‘Living space’

Codes :

(A) only (iii) is correct

(B) only (i) and (iii) are correct

(C) only (i) and (zii) are correct

(D) All are correct

A Supranational Organizations

are :

(z) It is a collection of individual

states with a common goal that

may be economic or political in

nature.

United State is perhaps the best

example of supranational

€22)

organisation.
(zii) Supranational Organisations
work for collective interest of
members
Codes :
(A)

(B)

Statements (i) and (i) are correct
Statements (i) and (ii7) are
correct

©)
D)

Statement (i7) is correct
Statements (iz) and (ii7) are
correct

65.

66.

APR - 36224/I1—A

s

T ETH’ STe Weileiieht shivd forem

() SRR 3Me/Ted ?

() T E U o foarER T
Eagll

@i) B A WG {2 S 2o 1
TrE ST

(iii) orerETaT 219 ‘Teie SAfuEE’ et
e

O

(A) e (ifi) B SIS 3R

(B) e (i) ST (ii7) S=R 3&d

(C) e (ii) M0 (i) SEX 3Aea

(D) Wd FLER 3T

UHIHAA HeIr= aed A faem

FIOT ?

() B TH Al TodiEl 98 ofe
I ARSI YA O ST

forell TSI &I 3T TTehd.

4

(i) STRER (FHE WH) T Helrad
GIHIA T T 33T 3.

(i1i) GITEHE 9T e Aheeh
fedramdl & .

Hehdl® :

(A) faum (G) 9 (i) I3

B) faum () 7 (i) a4

(C) faum i) ==

(D) faum (@) 9 (Gii) ard
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67.

68.

Who is considered the originator of
dualism between Physical and
Human Geography ?

(A) Carl Ritter

(B) Oscar Peschel
(C) George Gerland
(D) Friedrich Ratzel

List of authors (List I) and the books
they work (List II) are given below.
Match the List I and List II and
select the correct answer from the
codes given below :

List I (Authors)
(@) P.R. Gould and R. White
(b) D. Leg and M.S. Samuels
(c) E. Soja
(d) R. J. Johnston

List II (Books)

Postmodern Geographies : The
Reassertion of Space in Critical
Theory

@

(i1) Geography and Geographers

(7ii) Humanistic Geography
Problems and Prospects

(tv) Mental Maps
Codes :

(@) (B)
A @) @)
B) @ @
(C) (v) i)
D) Gi) @

) ()
@ii) ()
() (@)
@ @)
@) (@)

67.

68.

APR - 36224/T1—A

IO YTshfder ST HFal el ATdiel
STAE Yodes " S 2

(A) = R

(B) ERT U

(C) <l TRe’s

(D) Wwfegw (=

I} I TS @Rl 19 SATed W AR
1T H& [Tt e eeryH o 3Ted. A&l

I 9 II IraueR Teodd eld feeied]

Gehdieien! Ara v fAaer
T I (TEh)
(@ TR, Tiee o AN =M<
(b) =l @ 9 TAUE. YU
(¢ 3. gmn
(d) RS FI¥A
qret I (W=t )

(@) UrReAteq fSemwls] : g Remwr
Ar WY 3 fHepa A

(i) Toemmmr sfvg fSsiarsd
(iii) FHFEIE ISt © Heams 3fre
EISERE
(iv) Fed H|
Hehdlh
(@) ()
A @) @)
B) @) @)
(C) @v) (i)
D) Gii) @)

(© ()
@) (v)
() (@)
@ (@)
(@) (Gv)
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69.

70.

71.

In the course of development of
Geography as a science of spatial
analyses what become its language
and method ?

(A) Ecosystem
(B) Environment
(C) Geometry
(D) Landscape

Who in his 1906 methodological
paper entitled ‘Objectives of the
Geography of Man’ projected the
alternative concept of Geography as
the study of landscapes ?

(A) George Gerland

(B) Otto Schulter

(C) Friedrich Ratzel

(D) Ferdinand Von Richthofen

Which of the following statements
about postmodernism is not
correct ?

(A) The postmodern methodology is
based essentially on the
strategy of deconstruction

(B) Postmodern thought provides a
theoretical context for the study
of stratial/areal diversity in the

life world
(C)

The intellectual movement of
postmodernism flourished in the
first quarter of the twentieth

century
(D) Postmodernism is regarded as

the culture of late capitalism

69.

70.

71.

APR - 36224/I1—A

&R fageteome faem ®u[ e
foeprET= o fawart O 9 gl
M FAA ?
(A) wREEen
(B) waAERui

(C) et

D) 9-3%

T 1906 HEH SHIvit ‘ Afssigies 3 §
fesraret sfe #9' = efisiewr=an
FRTGide afeaed yEgvar= v
FHICAERST YA T Hohed
gafyd e ?

(A) WIS TRefs

(B) A X

(C) wigsh Teg

(D) wEMES a1 Rwere

At ®t HIord faur 2 sw-
Sk (RERICIAC ISR C O

(A) STR-3MYfH Tl a1 qoid: forsre

TR 3T 3Ted

(B) IW-3MYFeh foaR & ST SPame
HArwat fafaud=a samme
Tgifoer wed weH e

(C) 2031 kel dfgean =qefem,

sngfetwTIar=aT |ifg®

Tl YRS TSl

(D) IT-aefaswdarEae € gHaiTy

qETINE! Tehal 3R
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72.

73.

Which philosophy is based on a set
of principles and procedures
originally derived from Linguistics
and Linguistic philosophy ?

(A) Structuralism

(B) Feminism

(C) Behaviouralism

(D) Humanism

Assertion (A) : Ratzel provided the
scientific basis to study Human
Geography through his two volumes
of the book Anthropogeography.

Reason (R) : Positivism was the
approach used in the book

‘Anthropogeography’.
Which one

is correct ?

of the following

(A) Both (A) and (R) are true and

(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true and
(R) the

explanation of (A)

is not correct

(C) (A) is false and (R) is true

(D) (A) is true and (R) is false

72.

73.

APR - 36224/T1—A

SRIUT] eI Heid: HTSTfeRT SO wiften
TR T et o ST ufsharen
HEre S e ?

(A) TR

(B) wEw

(C) wag

(D) HHadER

e (A) : (2o AFa! e ST
FITAST AT StgraifeTaTR’ A

T SH TR dli-eh STYR UeH
.

T (R) : THETE & TGS

1) o1 e e s M e IR e A e

ETeTeTUehl ShITd SeK 3T 2
(A) TREI (A) e7for (R) sRIeR 3TRd @
(R) ® (A) 9 379 TILHIT 3T

(B) Tl (A) 31T (R) SeR aTed Wy
(R) T (A) = 3Tk IR AT

(C) (A) T F 3T 907 (R) & sIeR 378

(D) (A) T =R 318 991 (R) & ek 378
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T o the analysl of | T A S =
(A) Individual behaviours and SR o =P
perceptions (A) Fofs adT enfr ewom
(B) Grand narratives and
metanarratives (B) JeSHIT 9 TUHAT
(C) Social structures and power (C) TR ST 9 SxEsY
relations
(D) Multiple perspectives (D) Sggftehm
75. Match the name of the Geographers | 75. ¥Rl I H&d Yiedar=t A6 & @l 11
(List I) with the terms (List II) A Tl oo #1ed F= A Siel oo
selecting the correct answer from the fedear  gafardta AJv= gafg
given codes : THeret -
List I Tt 1
(a) Plato (@) =&
(b) Hipparcus (b) TEUREH
(c) Hettner () TR
(d) Kropotkin (d) HIefEA
List II Trar 11
(z) Map projections () RIS W&
(z1) Deductive approach (i) TR gfese
(ii7) Mutual aid (ii1) IR A
(iv) Chorology (fv) AT (AT )
Codes : Hehdieh
(@ b)) () (@ (@ b)) © @
A) @ @) G Go) A) @ @G @) Qo)
B) @) @ Gv) @) B) @) @ Gv) Gw)
(C) Gi) @) @) @) C) G G) @ (@v)
D) @) @) Gu) G D) Gv) @ ) @)
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76. Match the List I (Area of Study)

with List II (Focus of the Study) by
selecting the correct answer from the
codes given below :

List 1
(Area of Study)

(@) Man-Environmental relation-
ship

(b) Spatial analysis
(c) Earth Science
(d) Area Studies
List II
(Focus of the Study)

(1) Study of natural and Geological
processes

(2) Understanding human impacts
on the environment

(3) Quantitative methods to
analyze spatial patterns

(4) In-depth examination of specific
regions

Codes :

(@ B () (@
A 3 @2 @O @
B 2 O @ O
© 1D @ Q) @
M 2 & 1 @

APR - 36224/T1—A

76. Il I ALY AW €F 9 el [I 7

I T8 St 3Te. A e Yo
e s fEer

et 1

(3T 830

(@) AHI-9AER0 Fa9
b) wfwafa fagemm
(c) Yfom
(d) &= |
et 11
(ST A=)

(1) Urhfae oTfor sEmeta gfear
HEY

(2) TEERMEE A6l THIE HHSA =0

(3) stfuaia Apfaaa deacds
fawerom 0

(4) fofyme gem TeEre T
Hehdih
(@ b)) () (@
Aa 3 @ 1 @
B @2 O @ O
< @O @ B @
D 2 & @O @
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77. If the distance between two points | 77. maﬁ:\#}aﬂaaqﬁ@%ﬂa 3T 25 T,
on the ground is 25 km and the ST AT TRRIERI = & fogAd A
distance between the same two ST 10 T s, T >
points on a map is 10 cm, then the

(ST, ) IR FATO oo
Representative Fraction (RF) scale

.
of the map is ..........

(A) 1 : 2500
(A) 1 : 2500

(B) 1 : 25000
(B) 1 : 25000

C) 1 : 250000
(C) 1 : 250000 (©)
(D) 1 : 2500000 (D) 1 : 2500000

78. e is not an example of | 78. T T WiegsE o 356l
statistical surface. .

(A) Rainfall distribution map (A) TS foaeor TeRTem
(B) Elevation map (B) THEHURTURIA=! 3= G¥eh Tahmen
(C) Tourism map (C) Tded Fehrem
(D) Soil productivity map (D) HaT 3cqIeehdl Teh=m
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79. Match the List I and List I and | 79. ¥l 19 A< 11 A= Siedl edd @eiie

select the correct answer from the H@?ﬂﬂﬂ@ a9 g faer
codes given below : it T (e
List I (Projection)
! (@) @4
() Bonne’s
(b) TWHI
(b) Mercator
) OB IGIEIGIED
(¢) Polyconic
(d) Hiade

(d) Mollweide
aret I (83 STt /397

(1) o9 @ fawr

List II (Area coverage/purpose)

(1) Small longitudinal extent

(2) Navigational charts (2) feek e

(3) Mid latitudes (8) W& A%E™

(4) Distribution map across the (4) FYol SN foeRor FeRrEm
globe Tttt .

Codes :

(@ () (© (@
A @ 3 @O @
B 3 @ 1 @
© 3 1O @2 @

D @2 B8 @O @
80. T3 THWIER higeied] Tied IS

(@ b)) @ ()
A @ 3 @O @
B 3 @ O @
< 3 O @ @
M 2 B QO @

80. Fragmented lines drawn in relief

maps are known as : | 77 Y TR
(A) Contours (A) gHr== T

(B) Rhumb lines B) = I

(C) Form lines (C) =R Y&

(D) Graticules D) @
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81.

82.

The variability of rainfall is best
represented by which of the

following technique ?

(A) Mean deviation

(B) Standard deviation
(C) Coefficient of variation
(D) Interquartile range

How stratified sampling is carried

out ?

(A) Sample is made up of elements
which are randomly selected

from the population

(B) Dividing the population into
homogeneous groups and select

equally but randomly
(C)

Population divided into random
groups and select equally from

each group

(D) Assigning numbers to the

population and selecting

randomly the numbers

81.

82.

APR - 36224/I1—A

ST freRuTSTerdT SeieTeh! ShIoTeT
TA SEHRYRR S Ag 2

(A) W fererer

B) vHIOR fererer

(C) fo=mror Tones

(D) Jd=gds hen
WA Gfdeay SRR el o 2

(A) THT THHASIAYT ATg F5HmTul

faeaea S aFaa STl

(B) wIhEEdd THHY LA fIueH
FHEA THA FHHIY W A w5eh 0l
fereen

(C) wergEa Agfos Termed faanTet
S ST Jedeh TR HAE
IEEE]

(D) wihEeden §e fHgaa s omfir

IgfeshTel ¥ fHagu

83. ‘Chi-square Test’ is used to | 83. ‘¥ 91 S\l STAR =~ 3
measure : HISTHIT SH{UAEEl Shell STl
(A) Mean deviation (A) qUEd fa=en
(B) Goodness of fit (B) Seuit=ll A
(C) Trend (C) =
(D) Variation (D) fa=r
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84. Which of the following formula is

85.

used to calculate the drainage

density of a region or basin ?
(A) Total number of streams/total

area in square km

(B) Basin area/basin length square

(C) Total length of streams in km/
total area in square km

(D) Area of the basin/area of the
circle with same perimeter as

the basin

.............. profiles present a vivid
picture of the magnitude of relief

and general nature of dissection of

the region or watershed.
(A) Cross

(B) Superimposed

(C) Projected

(D) Composite

APR - 36224/T1—A

84. WY fohan Tt WiAmel STA-HR ST

85.

TSTUATETS! WE e deh! v T3l ST

S ?

(A) THU YARE HEA/THI &AhD

(B) TEI=N WA &5/7<= |
e S

(C) Yemer=t T wsll forrt Aed/ T
& =Ry fodt 7
(D) 7E=a G &F/78 W

TR THA STEOT T e

7 ISETH] He«™

T2 fos geifada 9 ey fehren Omuree

&= fa=se = W= e Seifodna.
(A) =1

(B) srearifud/ifereenod

(C) wa&ft

D) fax
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APR - 36224/II—A
86. Match List I with List II and select | 86. @11 J@l =&l IT == Sie=l Jaald

the correct option from the codes @eiiel Gehdiehliqd Ard @i Hael ¢
given below : T I
o Last 1 ool (ftert 3w
( e(;)(s)t];.a;;lonary atellite) (@ <.3suE.
EZ; GOMS ) =T
GMS (¢) SI.UA.TE.
(Zl) METEOSAT @ W
“ List II el 11
(C t1S /A, ) SR (e
ountry/Agency | D T
(1) European Space Union
(2) USA @) T
. (3) =
(3) Russia
4) J @
apan T
Codes : '

(@ ®) () ()
A 2 @ 3 @
B D B3 @ @
© @ 3 @ @

(@ B © (@
A 2 @ 3 @
B 1 B @ @
< @2 B @ @

D) @ 3 @) @ D @ B @O @
87. Arrange the regions  of 87. foelagaeia guichH Y= =@ %HHM

electromagnetic spectrum in TOTATS JHTO WSO A

ascending order as per wave- 1) stfaie freo

lengths :

(1) Ultraviolet (2) Y& <l

(2) Microwaves (3) &I-feRul

(8) X-rays (4) v @l 9 Wealt wadl

(4) Television and Radio
A @), 3), (2), (1)
A @), 3), (2), (1)

B) (1, (3), @), @ ® @), @), @0, @
© @), D), @, @ © @), M), @), @
D (@), @), (1), @ D (@), 3), (1), @
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88.

89.

90.

Which of the following statements
about scanners is not correct ?

(A) In pushbroom instrument the
scanlines are parallel to
flightline

In whiskbroom instrument the
scanlines are perpendicular to
flight line

The whiskbroom instrument use
single detector for each band
which collects energy through
rotating mirror

(B)

(&)

(D) In pushbroom instrument the

sensor is composed of thousands
of tiny CCD

Which of the following minerals is
found in the monazite sands of
Kerala ?

(A) Mica

(B) Uranium
(C) Kyanite
(D) Thorium

Tropic of Cancer passes through

which set of Indian states ?

(A) Gujarat, Rajasthan, Bihar,
Mizoram

(B) Madhya Pradesh, Uttar
Pradesh, Jharkhand, West
Bengal

(C) Bihar, West Bengal, Tripura,
Mizoram

(D) Madhya Pradesh, West Bengal,
Tripura, Mizoram

88.

89.

90.

APR - 36224/T1—A

ETeATTdeh! HI0d Tk faee ST
(BFR) &ed Fehlw A8 ?

(A) QYTgH SUHKLUNG STaciiheh 07
ISV I FHR STHA

fogeehs[H ST 3Tacilchen LOl
IS IH ToEd STEaAw

(B)

(C) TogTshgH SUHKIUMA Ucdeh &3
qESATHIET d:=a1 Jeeiadi
fRTU=n SIRET=A U™ HogHM

&9l Hehfald <hell S

(D) IRTIH SUHIUNT Folgdh TRl 1.9
El. 7 ITorel ST

@A TeAehT ShivTdT @Sl LA

M ST@esdd ?

(A) Y+

(B) I=w
(C) RS
D) oifEm

YRANIE I TG hehdd Sd 2
(A) TSN, oYM, faeR, iR

(B) HeIYSYl, SN, WREE, Uy=H

A

(C) TR, wfe=d =ma, gy, fhsim

(D) weggsyl, ufvew 9w, faqe,

GEING
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91.

92.

Given below are the two statements,
one labelled as Assertion (A) and
other labelled as Reason (R). Select
your answer from the codes given

below :

Assertion (A) : Laterites are less

fertile soils.

Reason (R) : High rainfall leads to

leaching of minerals.
Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but
(R) the

explanation of (A)

is not correct

(&)
(D)

(A) is true but (R) is false

(A) is false but (R) is true
Which of the following objectives is

not true for ‘Namami Gange
Programme’ ?

(A)
B)

Development of ‘Ganga Grams’

Development of navigable water

ways for mechanical boats

(C) Development of River fronts
(D) Monitoring of industrial
effluents

91.

92.

APR - 36224/I1—A

el g g feeft oTRd. oIa T
T9M (A) R 9 T FRU (R) TR
wrell feeiedr TehdishmIeE (A) ST®
™ fEe

faeam (A) : Sifrger st gdishar e
T e

&IUT (R) : 31fd o= wfsme
fHerem 2.

Hehdioh

(A) T (A) & (R) o9 o1gT (R) ©

(A) T IY TR B

(B) Tl (A) @ (R) 379 31ed g (R)
T (A) o 3T TR ARl 3T

(C) (A) 3=F 38 W (R) § IH 3Me
(D) (A) % 3% W (R) & 3% 3T
“THEY T hTEeRH GEUTd @eieren]

FHI0G IfEe WX AR ?

(A) ‘T g fa™

(B) FTfARIaiSAET aAtgqHT A1

ScEUCIIEEILS

(C) &t ghvmm=n foeh
(D) SiENfiter WeuvaET Teid
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93.

94.

95.

With reference to India, the names
of Didwana, Degana, Sargol and
Khatu are associated with which of

the following option ?

(A) Glaciers

(B) Ramsar sites

(C) Mangrove areas

(D) Saline lakes

Which one of the following has ‘Cwg’

type of climate ?

(A) Deccan peninsula

(B) Western coastal region

(C) Leh and Ladakh

(D) Ganga plain

is one of the best examples

of radial drainage pattern.

(A) Drainage on Girnar Hills

(Gujarat)

(B) Shyamak hill drainage
(Rajasthan)

(C) Pachmarhi hill drainage

(Madhya Pradesh)

(D) Bhima River (Maharashtra)

93.

94.

95.

APR - 36224/T1—A

qRar=A 9euid fesamn, S, Wi

S =g & A Eeeeh] v
e frifed emea ?

(A) fere

(B) THHY e

(C) WNHIE &

(D) TR TET

T FHIVET oI ‘Cwg’ WhH
BAHH AR ?

(A) TEETE U8R

B) ufr=d fHrugE W

(C) ©®§ At wisrE

(D) = _E

.............

T I & YUel™ T 39
T R
(A) AR 9ad &1 gomedt (T[1d)

(B) vaYF TG &l YUElr (TSTEYT)

(C) U=Yer Ydd A&t WOmel (Heawesr)

(D) Ty &t yomet (FERrg)
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96. Match the List I with List II and

select the correct answer from the

following :

List 1

(Local names of the plain)

(a)
(b)
(c)
(d)

(1)
(2)

3)
(4)

Bhabar
Khadar
Bhur
Kallar
List II
(Characteristics)
Composed of newer alluvium

Consisting of gravel and

unassorted sediments
Barren saline efflorescences soil

An elevated piece of land
situated along the banks of the
Ganga

Codes :

A (D
(B) 4)
€ 2
D) (2)

(d)
(2)
(1)
(1)
3)

(@) ()
4)
(2)
3)

(1)

(c)
(3)
(3)
(4)
(4)

APR - 36224/I1—A

96. I=I1 3 AR 11 A= Siedl B @relid]

HehdieRqd ara T e

(@)
®)
(c)
(d)

(1)
2)

3)
(4)

arer 1
(Femr= T Tid)
R
ESIES

kS
el

et 11
(afyTe=2D)
AT et =

TE 9 AYHNUG STl THE
ST

e @R qUEHEE gal

T = e ST A S
T&H 39 Y

. .
.
+

A
(B) 4)
C) 2
D) (2)

(@) ()
4)

(2)

() (@)
3)

3)

(2)
(1)
3)
(1)

(4)
4)

(1)
3)
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97.

98.

Which of the following statements
is not correct with respect to
roadways ?
(A) National
constructed and maintained by
National Highway Corporation
of India

State highways are constructed
and maintained by Border

highways are

(B)

Roads Organisation
(C) District roads are developed and
maintained by Zilla Parishads
(D) Village roads are mainly the

responsibility of Village

Panchayats
Match List I (Waterways) and List
IT (Stretch) and select the correct
answer from the codes given
below :

List I

National Waterway 1
National Waterway 2
National Waterway 3

(@)
®)
(c)
(d) National Waterway 4
List II

Sadiya-Dhubri stretch
Allahabad-Haldiya stretch
(3) Kakinada-Puducherry stretch
(4) Kottapuram-Kollam stretch
Codes :

(a)
(A) (2)
(B) (1)
C) @
D) (1)

(1
2)

(b)
(1)
(2)
3)
(2)

(c)
4)
4)
1)
3)

(d)
3)
3)
(2)
4)

97.

98.

APR - 36224/T1—A
AUt ok faem ¥ TRemieTe
T og 7
(A) ST FEME § MR ST HEMri
HeHes Aaded di9d d SEd
el ST
(B) U< WM sievlt & @ &
HH AN HEEThed hal S
(C) Troer W= fas™ o7t <@y

fSeerafiseaT®d Bl

(D) & WA FaEER & TEAd:
Y= $TEd

A1 1 3 At 11 == Siea e @i
Hehdieiqd ara T feer

EICU |
TR Se™rt 1
T S 2
T ST 3
TS STAHT 4

Trar 11
e @ gl T
HATRISE T Bt fora
(3) wERMATE O gl fawr
(4) “IZAYH d hice™ fa&r
Hehdlh :

(@)

A) (2)
(B) (1)
C) 4
D) (D)

(@)
)
(c)
(d)

(1)
(2)

(®)
(1)
(2)
3)
(2)

(c)
4)
4)
1)
3)

(d)
3)
3)
(2)
(4)
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99.

100.

Which of the following tribes is not

belongs to Proto-Australloids race ?
(A) Irulas tribe

(B) Veddahs tribe

(C) Kharwars tribe

(D) Murmis tribe

Arrange the following North-
Eastern states by their Literacy rate
(percent) in decending order as per

the census 2011 :
(@) Meghalaya
(b) Nagaland
(c) Assam
(d) Mizoram
Codes :

(A) (), (), (a), (c)
B) (c), (b), (@), (@)
(C) (o), (@), (b), (@)

(D) (), (), (), (@)

99.

100.

APR - 36224/I1—A

At Rl Hivrar enfeardt SAT
URI-Siegidrae A e ?

(A) THCAT SHIG

(B) T ST

(C) T@R SHId

(D) HHT SME

2011 = STTIHTER Wi seraeheld

T &R SUTIR 3Rl oA TSt

6l ¢

(@ HEEE

(b) IS

(c) g™

(d) foeim
W :

(A) (@), ), (@), ()
B) (), (®), (d), (@)
©) (©), @), (), (@

(D) (@), ), (¢), (@)
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ROUGH WORK
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